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Identify the equation of a line having the x-intercept and the y-intercept as
6 and -3 respectively.

a) X+2y=6 b) x+2y=-6 ) x-2y=6 d x-2y=-6
2) Which of the following line cuts the y-axis at y = 2 and slope is 57

a) S5x+y=-2 d 5x-y=2
3) Identify the equa 1e4x+y-10=0

and passes throu

a) 4x-y=11 N Gain complete access to the largest d) x-4y=11
4) Theslope of alin collection of worksheets in all suhjects! :ntify the equation of

the line m that pc

a) 6x+y=16 d x-6y=-16
5)  Which of the follc 1s the slope %?

a) x+ 2y=-16 www.mathworksheets4kids.com d x+ 2y =16
6) Which of the follc 2) and (-8, 6)?

a) x+y=-2 b) x-y=2 ) x+y=-4 d x-y=4
7) Theslope of alinesis 3 and is parallel to the line £ which passes through the point

(7, 6). Which of the following represents the equation of the line #?

a) x+3y=15 b) 3x-y=15 ¢ 3x+y=15 d x-3y=-15
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